reference V = V13 = 0V (ground)
Base #13

Set scale
(+/- 0.001)

High Voltage
(+/- 1V or 0.5V)

Scale V14 V1 V2 V3 V4 V5 V6 V7 V8 V9 V10 Vi1l V12 V10-V14
1.00 -3 1.00 0 100 3 1.00 5 100 7 1.00 9 1.00 12 1.00 15 1.00 17 1.00 19 100 22 100 05 0 1.00 25
200 -7 200 05 200 5 200 10 200 15 200 20 200 25 200 29 200 34 200 39 200 45 2.00 1 0 200 52
3.00 -12 3.00 1 300 8 300 15 300 23 300 30 300 37 300 45 300 52 3.00 60 3.00 68 3.00 2 0 3.00 80
400 -16 400 15 400 11 400 21 400 30 400 40 400 50 400 60 400 70 4.00 81 400 92 4.00 25 0 4.00 108
5.00 -21 5.00 2 500 14 500 26 500 38 500 51 500 63 500 76 500 90 500 103 5.00 118 5.00 3 0 5.00 139
6.00 -25 6.00 25 6.00 17 600 31 6.00 46 600 61 600 77 6.00 93 6.00 109 6.00 126 6.00 144 6.00 3.5 0 6.00 169
7.00 -30 7.00 3 700 19 700 37 700 54 700 72 700 90 7.00 110 7.00 129 7.00 150 7.00 172 7.00 4 0 7.00 202
800 -34 800 35 800 22 800 42 800 62 800 83 800 105 8.00 127 8.00 151 8.00 175 8.00 200 8.00 5 0 8.00 234
9.00 -39 9.00 4 9.00 25 9.00 48 900 71 900 95 900 119 9.00 145 9.00 172 9.00 200 9.00 229 9.00 5.5 0 9.00 268

10.00 -43 10.00 4.5 10.00 28 10.00 53 10.00 79 10.00 106 10.00 135 10.00 164 10.00 194 10.00 226 10.00 260 10.00 6 0 10.00 303
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HV (pin8) on #13
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High Voltage (V)

350
300
250
200
150
100

50

0.00

AV (anode-cathode) vs. Scale units on #13

y = 30.885x - 11.867
R? =0.9983

& Seriesl
—Linear (Seriesl)

5.00 10.00 15.00
Scale units




reference V = V13 = 0V (ground)

Base #14

Set scale

(+/- 0.001)

High Voltage
(+/- 1V or 0.5V)
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V8 (wrt ground pin13) (Volts)
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High Voltage (V)
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